Read this very well.
Download all the programs and pictures placed in this folder in a folder called the same way in your calculator (beamstif).

This is the, let’s say manual of the program.

Well, I hope you can understand everything here quickly and clearly.

Anyway, my name is Carlos A. Perez Coca I’m a student of civil engineering at UNI in Nicaragua. 

Well let’s talk about the program:

Common questions:

1. Can I analyze bending beams?
Yes, you have to transform the loads on the bending part into a moment and a point load in the nearest support of the bending part and the bending part disappears.

i.e.:
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2. But what about this type of bending beams?
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Well, easy the bending part doesn’t have any load, so you can change the beam like this:
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And nothing will be altered.

3. I see an Internal Error, What can I do? What does it mean?

Easy, archive all the programs and reset your calculator:

TI 92+: 2nd, Hand and On,

TI 89: I don’t know you must know.

Voyage 200: I don’t know you must know.

‘Cause this program can be ran on the three types of calculators.

The Internal Error means protection against editing the program, so you can not have access to it, the program is un-editable.

Improvements:

1. The drawing part is a F***ing 100 % totally improved. Because now the calculator starts drawing the beam as you’re entering the data, so you can see if it is going the way you want.

2. Also, the beam will be the same size even though its length is 3 m or 100 m for example.

3. And the only thing will be adjusted will be the loads according to their values.

4.  The program is fast, so fast and now you can choose two types of method to solve the beam, using the Stiffness Matrix Method and the 3 Moments Equation Method, both are well checked, so do not doubt the results.

5. The way the results are present has been changed, is totally understandable.

Note: I decided to change the program name instead of Viga31 now is Beam XP

(English version) and Viga XP (Spanish version).
But let’s solve a beam and meet the new version during a very good run.
O.K., suppose you want to solve this beam:
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For explanation purpose we’re going to suppose that the elasticity and the inertia will be 1 for all the beam elements.
O.K. we enter the program on its folder and run it.
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F1:  shows you the beam type just like the former version.
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1: Double embedded beam.

2: Double support beam.

3: Embedded support beam.

4: Support embedded beam.
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Read Me: Information about the author and some kind of help.
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This icon as it says quits the program.
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Once you choose the beam type these three questions will appear.
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Int Support 1, 2…n?

This question means where is the support number 1, 2 … n? The distance must be from the beginning of the beam.
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Now suppose we enter a wrong distance or you are not sure what you just enter, so let’s take this example, the drawing says the second internal support is at 11 but enter 12 by mistake, let’s see what happens.
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Do we have to run the program again? Not, we just edit that, by pressing F2 as it’s shown.
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And the question is done again; see the second internal support was erased. When entering loads information you can do it too, but once you press Go (F1) you can not edit anything. So this edit function is just for the current information.
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O.K. let’s move on and enter all the int. support distances.
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Once you finished entering the int. support distances, you are asked to enter load information. Note the supports have an “R” under each one and a number next to it, well as you can see it means the support number and the R means there is a reaction to be found.
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Well, loads are the defined as followed:

1: Point load.

2: Rectangular load or distributed load.

3: Triangular load (Positive slope).

4: Triangular load (Negative slope).

5: Moment load (Positive with the clock).
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So any time you press a load some questions will appear according to the load type.

Type 1:

Value? , Dist A?
Type 2:

Value? , Dist A? , Dist B?

For this type of load Dist A and Dist B must be between an element:
Type 3 and 4:

Value? , Element?
Type 5:

Value? , Dist A?

All Dist A? are from the beginning of the beam.

Dist B? is from the beginning of the beam till the load type 2 ends.

Here also you have the edit function.
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Now per element it will ask you for the elasticity and the inertia.
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Here you can choose between two types of methods to solve the beam.
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In the formulas part we have information about what to do with all the given matrices.
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The results and formulas will be according to the method.

Once you press quit everything is erased.
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Now, let’s solve it by 3Moments.
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Well, once again I guess it’s been all. I would like you to write at least to tell me the program is good or it sucks, then I will say, “well, they liked it I will keep improving this beautiful thing” in case is good “Oh my god I need to master my programming way, s**t” in case it sucks.
Any question write at cocathekilla@yahoo.com.

